| N of reco track vs normalized x2 | | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X
2 F © F 2 M
3] 5] [+ 5] 5]
8 8 8 g
= s 0F s 5
s f 8 g
F =
10°F 10°F 8
10°F 10°F
10°F 10°F
10 i 10
F, 1 1 1 1 1 1 1 1 1 F, i W il H
S Iy [ o =] ] Y
T RAAlf ; 3 T IS Lo op
x ; i & © & I
o 0 2 4 6 8 10 12 14 16 18 20 o 0V 2 4 6 8 10 12 14 16 18 20 O'U 2 4 6 8 10 12 14 16 18 20 O'T) 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
[erser
2 L L2 ¢
o [} [=] L L  a h
8 8 g g
[ [} Q
2 : 8 102
£ 10 T
3 P 1
) I°) ) Im!\ ;\‘.m A ———
2 = 2 e R
o4 14 o4
g g




	Contents
	Page 1


